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KEY AND MARKING SCALE
Accept any appropriate answer not mentioned in this key.
I. COMPREHENSION (15 POINTYS)
Testees should not be penalised for spelling or grammar mistakes in the comprehension section.
A. TRUE/FALSE: (3 pts) (1 pteach: 0.5 pt for the right choice and 0.5 pt for the right justification.
Consider the justification only if the choice is correct. Quotes from the texts are acceptable.)
1. F. .... destruction has been on the rise / 17% of the Amazon forest has been destroyed over ...
2. F. 80% is the percentage of (earth’s) animals living in the forest / ... many of them are affected
3. T. Residents have planted more than 2 million trees.
B. WH QUESTIONS: (4 pts; 1 pt each)
1. ... (mainly) Africa and South America.
2. ... to produce palm oil.

3. Accept any two of these (0.5 pt each): they reduce gases/mitigate the effect of climate change/are habitats
for animals

4. ... to detect logging activity /... to monitor illegal logging.
C. CHART FILLING: (2 pts; 1 pt each)

Figures What they refer to
30% The percentage of land which forests cover on the planet.

17% The percentage of the Amazon forest that has been destroyed.
250 million The number of people who live in forests (and depend on them for their living).

D. SENTENCE COMPLETION: (2 pts; 1 pt each)
1o reasons behind deforestation/causes of deforestation.
2. .... increase (in the atmosphere) as a result of deforestation / cause global warming/are the results of human
activities.
E. WORD MEANING: (2 pts; 1 pt each) 1. access 2. mitigate
F. WORD REFERENCE: (2 pts; 1 pt each) 1. logging 2. forests
I1. LANGUAGE: (15 POINTYS)
A. GAPFILLING: (2 pts; 1 pteach) 1. resources 2. security
. WORD FORMATION: (2 pts; 1 pt each) 1. unemployed 2. promote
. VERB FORM: (2 pts; 0.5 pteach) 1.tosend 2.had spent/spent 3. will have developed 4. having
. MISTAKE CORRECTION: (2 pts; 1 pt each) 1. had 2. whom
. REWRITING SENTENCES: (3 pts; 1 pt each)
1. .... will be taken individually.
2. ... to call her/him as soon as possible.
3. ... would/could have gone to the beach (with us).

F. APPROPRIATE RESPONSE: (2 pts; 1 pt each)

moOw

1. ¢ (No, not at all) 2. b (Sorry to hear that)
G. EXCHANGE COMPLETION: (2 pts; 1 pt each) Accept any appropriate answer.
1. WRITING (10 POINTS; task 1: 4 pts; task 2: 6 pts)
The following criteria should be respected while scoring the writing tasks.
Scoring criteria Task 1 Task 2
Relevance of content to the task 2 pts 3 pts
Appropriateness and variety of vocabulary 1pt 2 pts
Grammar and mechanics 1pt 1pt
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